
The rectangle has a perimeter of 40 meters.  The length of 
the rectangle is 13 meters.  What is the width of the 
rectangle? 
13 + 13 = 26 
40 – 26 = 14 
14 /2 = 7 
 
 
Number Model: 13 + 13 + 7 + 7 = 40  
 
Answer: 7 meters 
 
 
 
 
The width of a rectangle is 28 cm.  The perimeter of the 
rectangle is 100 cm.  What is the length of the rectangle? 
 
 
 
Number Model: 28 + 28 + 22 + 22 = 100 
 
Answer: 22 cm 
 
A rectangle’s perimeter is 84 inches.  The length of the 
rectangle is 36 inches.  What is the width of the rectangle? 
 
 
 
Number Model: 36 + 36 + 6 + 6 = 84 
 
Answer: 6 inches 
 


